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Statistics
aifeady

*Measure of dispersion :- The degree to which the

individual values of the variate fall or scatter form
the average values is called dispersion.

Following are the measures of dispersion :-

(i) Range (i1) Quartile Deviation (iii) Mean -
Deviation (M.D.) (iv) Standard Devistion (S.D.)

*Range :- Range of a distribuation is the difference of

the maximum and the least value.

i.e. Range = Maximum value - Minimum value

*Mean Deviation :- The deviation of an observation x

from a fixed value 'a' is the difference x - @ . The
sum of the deviation from mean (x) is zero.

.. Sum of deviation _ 0
Mean of deviation = — =—
Number of observation  x

=0
The mean deviation from 'a' is denoted by M.D.(a).

Sum of absolute values of deviation from'a'
Number of observations

. M.D.(a)=
Let x ;X)X 0. x_be the given n observations.
Let x be the A.M. and M be the Median.
Then ,

(i) Mean deviation about mean is

n —
Z|xi'x|

MD(;) = %

Where x = mean.

(i1) Mean - deviation about median is M.D.(M)

;|xi'M|

n , Where M = Median.

*Variance and Standard - deviation:-

Mean of the squares of the deviations from mean
is called variance and is denoted by o>

The variance of n observations x x ,x,,x,,........ X is
given by

1N —
o= L3 ()
i=1
The positive square root of the variance is called
the standard - deviation and it is denoted by o.

e

(161}

Multiple Choice Questions
(sg famedia uw)

What is the mean of the following data 1, 2, 3, 4, 5?
ferferRRad sffdst 1,2, 3, 4, 5 &7 A1e0 347 87
(@ 5 (b)) 3

(¢) 15 (d 2

What is the mean of the following data 2, 4, 67
frforRaa st 2, 4, 6 BT d1eg T 27

(a) 2 (b) 6

() 4 (d 3

If the arithmatic mean of the variables 1, 3, 5, 6, x,
10 is 6, then x =?

I TR 1,3, 5, 6,x, 10 BT TR AT 6 & Al x=7?
(a) 12 (b) 10

(c) 6 (d 11

The median of the following data 3,9,2,8,7, 1, 1,
4,56,6,2,9,7,8,4,6

frfaRaa sffesl 3,9,2,8,7,1,1,4,5,6,6,2,9,
7,8, 4, 65T HIfSTDT FIT B2

(@ 1 (b)) 2

() 6 (d 4

The median of the data 5,6,2,7,1,9, 4

1 afidsi 5,6,2,7, 1,9, 4 & ANASGT 57

(@ 6 ® 5

(o 2 d 4

The median of the following data 11, 3, 8, 7, 5, 14,
10, 2,9 is

fo= sffwst 11,3,8,7, 5, 14, 10, 2, 9 &1 A1feTHT 87
(a) 8 (b)) 7

(c) 6 (d 10

If varience 25 then standard deviation =

Ifg gEROT 25 8 I G faged =

(a) 25 (b) 20

(¢) 10 d 5

Mean of the first n natural number is

UUH n Udhd HeEmel &1 A ¥

n(n-1) nn+1)
(a) 2 (b) 2
+1
b 5 @ 75




9. Mean of the first 10 natural numbers is
T 10 Yhd AEIIRAT &7 Ay 7
(a 11 (b) 10
(¢) 55 d 6
10.  Mean of the first 10 multiples of 3 is 16.
3% UIH 10 TS BT AT B
(a) 165 (b) 16
(d 175 (d 15
11.  The mean decviation of n observations x ,x,,x....x, is
n 3l X x),x,,..X B A fdaer §
(a) Z |- x |
(b) L Zn-x]
n XX
n - 17.
© 2lx+x]
i=1
(d)  None of these(37TH | I3 &)
12. Themeandeviation about median of n observations
XXX s X 18
n ABS X ,X,,....X BT HAEgdr & doer dqeg 18
e &
n 1 n
@  X[x-M] ®  p2lx-M|
= i=1
© 2lx+m| (d) fle,+M|
i=1
13.  If number of observation is odd then median will 19,
be
Ife Vefort B AT faww ® A1 Aifeaedr g
(@) (n+ 1)" observation {(n+ 1) df Jefor}
(b) (nél > observation {( 5 > qf TeTor}
th o 20.
(©) <nJ2r 1 ) observation {(IlJzr 1 ) gt veror}
(c) None of these(3TH & ®Ig 7T&l)
14.  Which of the following is centre of tendency
7§ o9 v ugfa 2 21.
(a) Mean(HTeY)
(b)  Median(HATfEIaT)
(¢) Mode(dgeih)
(d)  All of these(Sudad )
15.  Which of the measure of dispersion ?
DI A T B AT 7
WH&T-11 (MO

(a) Range(UR¥R)
(b) Mean deviation (\Ted fa=rer)
(c)  Standard deviation (A& fa=rer)

(d)  All of these (ST |1

Range of series =

ST BT URAX =

(a) Maximum value - Minimum value
(3BT A — RLATH A )

(b)  Minimum value - Maximum value
(AT JF — ATHTH A )

(¢) Maximum value + Minimum value
(3B TH A + R[AqH A4 )

(d) None of these(ZTH & ®Ig 72T |)

The mean deviation about the mean for the
following data 6, 7, 10, 12, 13,4, 8, 12 is

frferRad sifest 6, 7, 10, 12, 13,4, 8, 12 & 1w

arey & ATvel 7y AT ©
(a 2 (b)y 3
() 275 (d 35

Median of the following data 3, 9, 5, 3, 12, 10, 18,
4,7,19,211is

ffaRaa sifest 3,9, 5, 3, 12, 10, 18, 4, 7, 19,
21 &I ARTHT B

(@ 5 (b) 3

() 4 @ 9

If the mean of the following data is 15, 17, x, 13,
7,18,9, 6, 14, 11 is 12 then value of x will be

gfe fa=1 sffepet 15,17, x, 13,7, 18,9, 6, 14, 11
BT T 128 A x BT 919 81T

(@) 12 (b) 10
(© 11 d 5

The mean of the following data 3, 6, 9, 12 is
foreT st 3, 6,9, 12 9T AT ©

(@) 12 (b) 9
) 6 d 75

Relation between AM, GM, and HM is
AM, GM @1 HM & 419 ey ©

(a) GM > AM > HM
(b) HM > GM > AM
(c) AM > GM > HM
(d) GM > HM > AM




22.

23.

24.

25.

26.

27.

He&T-11 (oI

Relation among mean, median and mode is

Hqe, HIAHT, Ud geidh # e ®

(a) Mean + Mode =3(Mean — Median)
(Y + dgcich ) = 3( HIEd — HIfSADT )

(b) Mean - Mode =3(Mean — Median) 28.

(|1 — Ggold ) = 3( A1 — HIfedahT )
(c) Mean - Mode = 2(Mean - Median)

(T — FgAD ) = 2( A — HfEIDT )
(d) Mean - Mode = 2(Mean + Median)
(e — Fgeld ) = 2( e + HIegDl )
What is the mode of the numbers 2, 5,7, 3,3,6?
He@at 2,5, 7, 3,3, 6% 9gdA® 9T 27

(@ 2 (b 3 29.

() 7 (d 6

What is the mode of the numbers 1, 1, 2, 3,4, 3, 1,
2,1,3

A=l 1,1,2,3,4,3,1,2, 1,3 &1 9gad &7 87
(a) 1 b))y 2

() 3 (d 4

Which of the following is the arithmatic mean of
first n natural numbers ?

T n UTdd ARl &1 TR Ay frefalRaa
Y P — AT 87

@ 5 ®

© 3 @ o

The arithmatic mean of 10 numbers is 20. If the

numbers are doubled , which of the following is  31.

the AM of the new numbers ?

10 G BT FHIRIR A1 20 B [AfS gAdh H=T
A PR & I, AT A5 ARATAT BT FARR A
fr=forRaa & & @9 —ar g8

(@ 1

(b)y 40

(c) 20

(d)  None of these(3TH | I3 7Tal)

The numbers 1, 2, 3, 4, 5, 6 have the weight 6, 5,
4, 3, 2, 1 respectively . Which of the following is
the weighted mean ?

- o

I 1,2,3,4,5, 6% MR HA: 6,5,4,3,2,1
2| a sdr wiRa arey fa=folRad & & &9 27

1’+2°+3°+4°+5°+ 6

(a) 1+2+3+4+5+6 32.

30.

. 1.6+2.5+3.4
®)  TF2+3+4+5+6

21.6 +2.5+3.4)
©  T1243+4+5+6

(d) None of these(37H | ®Ig &)

The weighted mean of the first n natural numbers
whose weights are equal to the squares of the
corresponding numbers is

@ Fo+Dm-1)

3n(2n+1)
(b) 2(2n+1)

© s+ DEn+1)
@ gn(+1)

The algebric sum of the deviations of n terms from
their arithmetic mean is

nUel &1 HHR Ay | ferer i &1 iy gar 27

(@ n
(b 1
(¢ 0

(d)  None of these(ZTH & B e

Which of the following corresponds to the
intersection of "less than" and "more than" ogive?

"less than" Td "more than" ogive & Ba- ﬁ@
fferRaa o faeT qar 27

(a) Mean(HTe)

(b)  Median(HATiEaT)

(¢)  Mode(dgcid)

(d)  None of these(37H | ®Ig 7Tal)

The standard deviation of 17 numbers is 0.Which
of the following is true ?

17 Ax=reil &1 "9 faered 0 § af fA=ferRaa #
T P I 27

(@)  The numbers are in G.P. whose common
ratio is not 1

R UIRR HEl H 8 el U 1 b
ENENEEIR

(b)  Eight numbers are positive , eight are
negative and one number is 0

IS TRYTY TATHD, NS FUHD TG Th T

0%

(c) the mean of the numbers is 0
RTRN BT AT 0 B |

(d) None of these(3H | ®Ig &)
The daily wages (in Rs.) of 7 persons are 12, 7, 15,




10, 19, 17, 25. The quartile deviation of the datais  39. If the mean of numbers 27 + x, 31 + x, 89 + x,
7 feqal &1 e H\ﬂcé\é‘l (wual ff) 12,7, 15, 107 + x, 156 + x, is 82, then the mean of 130 + x,
10, 19, 17,25 B | 3ifdel &1 =aqgeie faae & | 126 + x, 68 + x, 50 + x, 1+ x is
(a) 145 by 5 afe et 27 + x, 31 + x, 89 + x, 107 + x,
9 (d 45 156 + x BT AT 82 8, AT 130 +x, 126 +x, 68 +x,
33. The range of data 9, 8, 12, 80, 75, 45, 36, 72 is 50 +x, 1+ x T A ©
o . _ (a 79 (b) 75
aifael 9, 8, 12, 80, 75, 45, 36, 72 BT WX & : © 8 @ 80
(@ 9 (b) 80 .
40. Mean deviation of the data 6, 7, 10, 12, 13, 4, 8, 12
(c) 72 (d 75 )
) from the mean is
34, Ih; ir:lge of the observation 2, 3,5,9,8,7,6,5,7, o 6.7. 10, 12, 13. 4. 8, 12 @1 A R
) ﬁ‘_d?’l:f % .
et 2,3,5,9,8,7,6,5,7,4,3 P WM & — @) 2.75 ®) 175
@ 11 by 7 ¢ 3 (d 2
© 353 6 41. Mean deviation of the data 2, 9, 9, 3, 6, 9, 4 from
35. Ifmean of 3,4,x,7,10, 6 , then the value of x is the mean is
afe 3,4,x,7,10, 6 & A 67, Al x I A © — sifdel 2,9,9,3,6,9,4 H AT A Ay faged @
(a) 4 (b 5 -
(¢) 6 @ 7 (a) 2.23 (b) 2.57
36. The mean value of the median and mean of the € 323 d 3.57
odd divisors of 360 is 42.  The mean deviation about the median for the data
360 @ favs RToTat & AfeaaT ik A & 72 1_1’3’8’7’5’14’10’2’915
A & — sffwst 11, 3,8, 7, 5, 14, 10, 2, 9 BT AfTHT A
@ 13 ®) 7 A1 fager § —
(¢) 6 (d 10 (a 3 (b)) 2
37. The mean of 1% (n+1) natural numbers is © 5 d 4
S . 43. The mean of five observations is 4 and their
HH (n+1) T Sl 1 AT & variance is 5.2 .If three of them are 1,2,6 then
@ n+2 other two are
a — o .
2 UTel el B HEg 4 8 TAT ST THRoT(faer=
) (n+1)(n+2) AYI® ) 5.2 &, IfQ ITH 4§ 0 3@elidd 1,2,6 &
2 ar e g o1 &
© [n(n+1)]2 (@ 2,9 (b) 4,7
2 () 5,6 d 2,10
n+1
(d) ) 44.  The mean of first 10 multiples of 3 is
38. Iij,x%,xj,_“ ....... x 1s the set of n observation whose 3® UUF 10 T,ﬂ—d,ﬁ BT AT B
mean is X , then B @ 155 b 175
IS n SATADBAT X, % e x BT AT X gar (¢) 165 (d 185
(a) :il (x\—x)=>0 45.  The variance of first 10 multiples of 3 is
n _ 3% " 10 OIPI P UIR0T & —
(®) ;(" —%)=0 (@) 70.15 (b) 7415
n _ (¢) 73.15 (d) 74.25
© 2(x—x)=0 » .
i=1 46. The standard - deviation of first 10 multiples of 3
@ D(x—xy=0 18
i=1
HefT-11 0T (767)




3% YoM 10 UNd! &1 A — faaes 8 —
(@) 8.6l b) 821
©) 85I @ 831

© 5% @ /1y

The frequeny distribution table is given here

TP qRERAT — faaRor areft Hir & 18 ' -

47.  For a frequancy distribution , the mean deviation
about mean is givem by ClL 1-10 | 11-20 | 21-30 | 31-40 | 41-50 | 51-60
aﬂfl q ?.€| Nd aaQU Eﬁ %I'Q , HIY Qéf He — Frequency | 11 29 18 4 5 3
fage™ &1 719 8T ® - . .
53.  Find the mean (AT ST HY)
>ldi] £l di]
(a) S (b) Sf (a) 225 (b 215
© S Ed, o S (¢) 235 (d) 245
2f Xfdil 54.  Find the varience (JIRUT STd &)
48.  Variance of the data 2,4, 5, 6, 8, 17 1s 23.33. Then (a) 163.53 (b)  164.25
variance Of4, 8, 10, 12, 16, 34 will be (C) 162.21 (C) 161.14
Z[%g, 10, 1'2’ ?’6?’3451,?}?"; 8, 17 Eb"rm 23338 @ 55. ;1)(1 the standard deviation ( H9® — fdgre™ STd
@ Bn o B
' ’ (c) 147 (d 11.7
49. The standgrd d;wa‘uon ofa dlstrlbuatlon.ls 30and Themean and standard deviation of 100 observation
each term is raised by 3 , then new S.D. is .
were calculated as 40 and 5.1 respectively by a
afe ve fAaRer w1 A9d — fdue 30 8, I student who took by mistake 50 instead of 40 for
Jd TS H 3 D1 ghg B Il & Al 7T AP — one observation .
T B U BE &RT 100 TABAl BT A 3R ADH
(a) 32 — farer e 40 3iR 5.1 7T fbar TIT Wk
(b) 28 AT Terdl ¥ 3ffber 40 B STTE 50 BT YT PR
() 27 fear o, A
() None of these(¥7TH ¥ PIE Tel) 56.  Find the correct mean (&l HET S PBX):—
50. S.D. of the data(3if@si &1 S.D. 8) (a) 38.9 (b) 379
(¢) 399 (d 369
X, 3 8 13 18 23 57.  Find the correct standard deviation
A / 10 15 10 6 (T8 7Hd — fage S d)—
(a) 6.12 (b)) 5.12 (a) 4 (b)y 6
(¢) 3.12 (d 712 (¢) 3 d 5
51.  The standard deviation of the numbers 31, 32,33, 58. Find the varience of the following data 6, 8, 10,
....46,47 is 12, 14, 16, 18, 20, 22, 24
|l 31, 32, 33, .46, 47 BT A — fderer feforiRaa sifest 6, 8, 10, 12, 14, 16, 18, 20, 22,
2 24 BT YR S BN
/17 47°—1 (a) 33 (b) 30
@) 12 (®) 12 © 32 d) 35
©) 2£ (d) 4ﬁ 59.  Mean deviation for n observation x, x, .... x, from
52.  If the variance of 1, 2, 3, ...... 10 is % , then the their mean x is given by
standard - deviation of 3, 6, 9,................. 301is n TS x, x, ... x BT A —fAarer, T A
A 1,2,3, . 10 F SRR 5 R A 3,6, x T e g -
T 30 &1 A9H — fa=e © g _ | <& _
297 3 @ X(xu—x) ® 2 (e—x)
(a) 4 (b) j\/g " i=1
WH&T-11 (MO =




60.

61.

(©) i(xi —3) (d) %Z(xi -3

Let x,, x,, X; oeee. , x, be n observations and x be
their arithmetic mean. The formula for the standard

- deviation is given by

AT B X, %, X, e ,xn,naﬁlaﬁﬁ:li\’ﬁ%;

‘12 20 N3

IAHT FHMR A1 © , Al 4D — fage & g3

fer S 8 -
(@ S(x—x) (b) z<x;_x>

__72 2i+_2
(©) \/% (d) %

Standard deviation for first 10 natural numbers is

T 10 UTdhd ARl &l AFd — faeed 2 —
(@) 5.5 (b) 3.87
(c) 297 (d 2.87

Very Short Answer Type Questions
(erfa org Sag UeA)

Find the mean of the following data.

far=forlRaa sifest &1 A1 AT |

data.

fa=forRad sifpsl @& forv @ & |mer @y e

BIGEC

1. 3,928

2. 4,3,2,1,6
3. 2,4,6,6

4. 3,1,4,2,6,2

Find the mean deviation about the median for the
following data.

fr=ferRad sifpel & AMfSgdr & el 9 faure

I BN |

5. 3,9,2,8,7,1,7,7,3

6. 11,3,8,7,5,14,10,2,9

7. 4,2,6,5

8. 1,5,3,4,3,2

9. Find the mean for the data 4, 7, 8, 9, 10, 12, 13, 17

o= 3ffbsl 4, 7, 8, 9, 10, 12, 13, 1761 AL
T B |

10.  Find the mean for the data
1. 2,4,6,8,10 fFreferRad aifdsl & forg Al id &Y |
2 1,2,3,4,5,6 x 5 10 15 20 25
3 3,6,9,12,15,18 A 7 4 6 3 5
4, 7,10,3,4 11.  Find the median for the data 13, 17, 16, 14, 11, 13,
s 1132158 10, 16, 11, 18,12, 17
6 20, 40, 60, 30, 10
o T T 12.  Find the median for the data

Find the median of the following data. fr=afarRaa sifepel & foru ArfegsdT s o |

ARad it 1 AfearepT Fapef | x, 5 7 9 10 12 15
7. 1,2,3 A 8 6 2 2 2 6
8. 2,1,4,6,3,1 Long Answer Type Questions
9. 1,543 G SRR AR
10. 2,7,9,6 1. Find the mean deviation about the mean for the
1. 9.8.3.1.6.4.3 data 4,.7, 8,9,10,12, 13,17
B 2411376 =1 sifasl 4, 7,8, 9, 10,12, 13, 17 & fog wre

e LS % ATvel A fgeE S BN |
Short Answer Type Questions
(erg ST UE) 2. Find the mean deviation about the mean for the
data 13, 17, 16, 14, 11, 13, 10, 16, 11, 18, 12, 17
Find the mean deviation about the mean for the following o st 13,17, 16, 14, 11, 13, 10, 16, 11, 18,
WHEMT-11 (TOTA) —=

1

6



codl
3. Find the mean deviation about the mean for the

data

=1 sl & foru Ay & el |y faue™

ST BN |

X, 5 10 15 20 25

f 7 4 6 3 5
4. Find the mean deviation about the median for the

data

=1 3ifpsl & foru A1feasdT & AT Jrey fa=re™

ST BN |

X, 5 7 9 10 12 15

f 8 6 2 2 2 6

Multipule Choice Question
( sgfapadia y=l &1 SR )
1. b 2. c 3. d 4. ¢ 5. b
6. a 7. d 8 b 9. ¢ 10. a
11. b 12. b 13. ¢ 14. d 15. d
16. a 17. ¢ 18. d 19. b 20. d
21. ¢ 22. b 23. b 24. a 25. a
26. b 27. ¢ 28. d 29. ¢ 30. b
3.  d 32. d 33. ¢ 34. b 35. ¢
3. d 37. a 38. ¢ 39. b 40. a
41. b 42. a 43. b 44. ¢ 45. d
46. a 47. b 48. ¢ 49. d 50. a
51. ¢ 52. b 53. b 54. d 55. a
56. ¢ 57. d 58. a 59. b 60. ¢
6l1. d
Very Short Answer Type Questions
(erfay org ST UeA)

1.  Given data ( f&T 7T 3ff®s ):- 2, 4, 6, 8, 10

n=>5

—_ 2+4+6+8+
Mean,x=2 4 65 8110
()
=% =6 Ans

2. Given data (3T 717 3ffes ):-1,2,3,4,5,6

n==6
He&T-11 (oI

12, 17 & foru wifeassr & Amver qeg Qgas g

—_ 1+2+3+4+5+6
Mean , x = 6

() a7

3. Given data ( fQU 77 &ifds ):- 3, 6,9, 12, 15,18

n==6

— 3+6+9+12+15+18
Mean , x = 6
(sme)

4.  Data(3ff®s ):-7, 10,3, 4

n=4
—_7+10+3+
Mean,x=7 1043 4
() 24
=T=6 Ans.
5.  Data( 8ffes )-11,3,2,1,5,8
n=~6
—_ 11 +3+2+1+5+8
Mean , x = 3
GL)) 30
=6 =5 Ans.

6.  Dtata (3lds ):- 20, 40, 60, 30, 10

n=>5
— 20+40+60+30+10
Mean , x = 5
(sre) 160
=735 =32 Ans.

~

Data ( 3ff®s ):- 1,2, 3

Increasing order of data 1, 2, 3

faw T sffest &1 954 A 1,2,3
n =3 (odd) (faw)
Median(HTEIHT)

+ th .
M= ( n 7 1 > observation

th
= (3%) observation

=2"observation =2  Ans

8.  Data(3ifds ):-2,1,4,6,3,1

Increasing order of data




f&q T sifepsl @1 qed B4
1,1,2,3,4,6 ,
Median (ATfegT)

th
1 (%) observation + (% + 1)

n =6 (even)(dH)

th

sz

observation]

Median (HTfeIaT)

th
M= < n42- 1 ) observation

= 4" observation

=4 Ans.

1 fou , W , 12.  Data (3if®s ):-2,4,1,1,3,7,6
= 7[3 observation + 4" observation |
Increasing order of data
T+3]
2 o .
fQ Y sifpst a1 98 B
=2 = 2.5 Ans
2 : : 1,1,2,3,4,6,7 , n=7(odd) (faum)
9.  Data(3ff®s ):-1,5,4,3 Median (HTfEIaT)
Increasing order of data M = 4™ observation
%QTFQGWW Eﬁrg‘aﬁ'zﬁq =3 Ans.

_ Short Answer Type Questions
1,3,4,5 , n=4 (even) (FH) (@ far )
Median (ATfegT)

11/ 4 4 th 1. Given data(ﬁ'(’ T b ),
M=~> (7) observation + (7 + 1) observation
x:3,9,2,8
%[2 observation + 3™ observation | n=4
1 — 3+9+2+
=5[3+4] Mean,xz—3 942 8
7 () 22
=5 =35 Ans. =3 755
10. Data (3ff®S ):-2,7,9, 6
Increasing order of data 5 X~ x | Xi-X |
o . 3 -2.5 2.5
sifsl &1 dgd HH
feg e ' ' 9 3.5 3.5
2,6,7,9 , n=4(even) (FH) 2 3.5 35
Median (FTfezreT) 8 2.5 2.5
1 Slxi—x|=12
M= 5[2“d observation + 3™ observation] Slo-xl
MD(x) = =1
= 26+7] n
13 = % =3 Ans.
=5 =6.5 Ans.
2. Given data ( fev v SfEB@_' ):-
11. Data(3ff®sS ):-9,8,3,1,6,4,3 x:4,3,2,1,.6
Increasing order of data n=>5
R Y sifwel BT aed B Mean ,x =+ 2 2T1E
HEY
1,3,3,4,6,8,9 ,n=7 (odd) (faw) (=) =% —35
WH&T-11 (MO (168)




— - % X - ; |xi_;|
X X=X |xi*x| xi-3
% =32 3 0 0
4 0.8 0.8 1 B >
3 0.2 0.2 4 1 1
2 1.2 12 > ) 1
1 2.2 22 p 3 3
6 2.8 2.8 2 1 1
Ylxi—x|=72 >xi—x|=8
— _ X|xi—x]| S
MD(x) = n MD(x) = |x‘n |
_12 _
=5 =144 Ans. =% =% Ans.
Given data( f&T ¢ sifes ), 5. Given data (f3U 7 3ff®S),
X:2,4,6,6 3,9,2,8,7,1,7,7,3
n=4 Ascending order of given data
—_2+4+6+6 o\
Mean , x === QU 1Y sifwsi &1 ggd HA
@)
=10 =45 x:1,2,3,3,7,7,7,8,9
4 1
n =9 (odd) (fqyH)
i X-x x| Median (HTfEaaT),
X, -2 M <n+ ! )th bservation (o)
= observation
2 2.5 2.5 2
4 0.5 0.5 = 5" observation (Beron)
6 1.5 1.5 =17
6 1.5 1.5 x| x-M v~ M|
Z|xi_;|:6 xi'7
1 -6 6
— Yl
MD(x) = |xn x| 2 s 5
6 _3_ 3 -4 4
Given data( f&T 17 3ff®s ), 7 0 0
x:3,1,4,2,6,2 l 0 0
' 7 0 0
n=6 8 1 1
Mean 3= 3H1F4+2+6+2 9 > >
=% =
_ —M
MD(x) = Z|xn |
= % =24 Ans.
$&|T—11(Tl'fﬂ\1?n r@




Given data( T T 3ffes ), X, x-M v - M|
11,3,8,7,5,14,10,2,9 X =43
Ascending order of aiven d 2 25 2.5
scending (?r er of given data 4 05 0.5
feq MY sl b1 ged B4 5 0.5 0.5
X:2,3,5,7,8,9,10, 11, 14 6 1.5 1.5
n =9 (odd)(Rrw) 2lx—Ml=5
. 1_ M
Median (HTEIPT), MD(M) = le |
_ ( n+1 >‘h . "
M= 7 observation _ % — 125  Ans.
= 5" observation _
-3 8. Given data( U v 3ffers ),
Y 1,5,3,4,3,2
i i g | xi-M | Ascending order of given data
X - NN
3 " s fRQ g Sifwst &1 ggd P
3 5 5 x:1,2,3,3,4,5
5 -3 3 n =6 (even) ()
7 -1 1 Median (HTEIT),
th th
8 0 0 M= %[(%) observation + (% + 1> observation
9 1 1
10 2 2 = %[3“1 observation + 4™ observation |
11 3 3 1
14 6 6 =53+3]
>lx—M|=27 =0=3
—_2lx—M] x| x-M | xi- M|
MD(x) ==~ —— x -3
=4l =3 Ans. ! 2 2
_ 2 -1 1
Given data( faT 7 3ffes ), 3 0 0
4,2,6,5 3 0 0
Ascending order of given data 4 1 1
fau 7Y 3ffpsi &1 ded HH 5 2 2
x:2,4,5,6 Dlx—Ml=6
n =4 (cven) (W) vy = Zlnm M
Median (HTEIPT), n
11/ n\ . n th ) :% =1 Ans.
M= §[<7> observation + <§ + 1) observatlon]
1 9. We have given data :- 4,7, 8,9, 10, 12, 13, 17
= 5[2"El observation + 3™ observation | .
1 _ ,;Xi
- 5[4 +5] - Mean = x = 05" CF observation
=5 =45 cols
2 . = X 8 iz}x.
HefT-11 0T —=




= g4+ 7484910+ 12+13+17)

Long Answer Type Questions

(el Sad geA)
= % X 80
- 1. We have given data
~x=10
4,7,8,9,10,12, 13, 17
10.  We have, : .
x:5 10 15 20 25 < Mean = x =g X 2.
f:7 4 6 3 5 =8 —3
xf:35 40 90 60 125 = x=10
5 . .. . _
_ So the corresponding mean deviation i.e.(x— x )
Now, N= Z]’C are
i=1
. (4-10), (7 - 10), (8 - 10), (9 - 10), (10 - 10), (12 - 10),
and X fxi =350 (13 -10), (17 - 10)
— 5 .
hence, Mean = x = %gl o ie. -6,-3,-2,-1,0,2,3,7
1 .". absolute values of deviations are
=95 X350
_ 6,3,2,1,0,2,3and 7
=>x=14 ¢ B
, X n—x|=24
11.  We have given data i=1
8 —
13, 17,16, 14,11, 13, 10, 16, 11, 18, 12, 17 Hence, Mean — deviation(M.D.) = % XY |x—x|
i=1
In ascending order 24
10, 11, 11, 12, 13,13, 14, 16, 16, 17, 17, 18 =% =3
.. Median = L[6lh observation + 7" observation |
2 2. We have given data as,
1
= 7[13 +14] 13,17, 16, 14,11, 13,10, 16, 11, 18, 12, 17
= 22_7 =135 In ascending order
10, 11, 11,12, 13, 13, 14, 16, 16, 17, 17, 18
12.  from the given data let us construct a table as Median = %[Ghobservation + 7% observation ]
x:5 7 9 10 12 15
‘ :%[13+14]=%: 13.5
f:8 6 2 2 2 6
cf:8 14 16 18 20 26 So the abso.lute values' of t.he respective deviations
corresponding to median i.e.,| xi — M| are
6
clearly N= 2 f'=26 (cven) 3.5,2.5,2.5,1.5,0.5,0.5,0.5,2.5,2.5,3.5,3.5,4.5
Median will be the mean of 13" and 14% ‘ 'Zz:l _M|=28
observations. Both of these observations lie L H N
in the cumulative frequency of 14 for which hence, Mean deviation about median =
corresponding observations is 7 |
1 M= ﬁg |xi—M]|
.. Median = 7[13th observation + 14" observation] 5%
1 14 =M= S 2.33
WH&T-11 (MO (171}




3. Let us construct the table hence,

Mean deviation about median

X, i X x—xI| flx—x|
7 35 9 63 %XZflx. M|
0| 4 40 4 16 |
5] 6 90 1 6 =26 34
20| 3 60 6 18 =323 Ans
5| s 125 | 11 55
S| 25 [ 350 158

5
clearly , N = ; f

= N =25
5
X fxi =350
5
We know that mean(x) = lﬁg Jxi
-1
33 X350

=x=14

5 —
also, ; flxi—x =158

5 _
.". Mean deviation = 711\1 > flxi—x|
i=1

17
75 X 158

=6.32

4. From the given data let us construct the table—>

i ¢/ |lx—=Ml| flx—Mm]|
5 8 8 2 16
7 6 14 0 0
9 2 16 2 4
10 2 18 3 6
12 2 20 5 10
15 6 26 8 48
)3 26 84

6
clearly , N = Zl f
= 26(even)
Median = 17[13th observation + 14" observation ]

* Both observation lie in the cumulative
frequency of 14 for which corresponding
observation is 7

.". Median = %[7 +7]

_1 _
=5 X14=7

He&T-11 (oI —=






